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1. The formation (JEAX) of a peptide bond between two amino acids is an example (#%1) of a(n)

reaction (SFE)

cleavage
condensation
group transfer
isomerization
oxidation reduction

moomp»

2. If the free energy change for a reaction is -46.11 kJ/mol, the reaction is:
at equilibrium

endergonic

endothermic

exergonic

exothermic

moow>»

3. Phosphoric acid is tribasic (ZEEEHY), with pKa's of 2.14, 6.86, and 12.4. The ionic form (#E+ 5!
4y F) that predominates (F %) at pH 3.2 is:

H3;PO,

H,PO4~

HPO#

PO

None of the above
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4. Which of the following (L F) monosaccharides (E2Eg) is not an aldose? i
erythrose ‘ :

fructose

glucose

glyceraldehyde

ribose

mooo»

5. A major (FE) component (§H7%) of RNA but NOT of DNA is:
adenine

cytosine
guanine
thymine
uracil
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6. Which vitamin(#££%) is derived (fi74) from cholesterol?
A A

B. B2
C. D
D. E
E. K
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7. {AIEE induce fit ? (10%)
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9. {a]Z8 enantiomers ? (10%)

10.}2?435’\35}17*%?@%@? HAOFRIERTRY FRUMB—R? (10 %)

CHz

HO'

Fae i
L& R %lﬁﬁ“ﬂ%\




